PIDFOM update
Simon Taylor / JLab

» |dea: for each particle hypothesis, add x* contributions from various PID sources and

convert to a probability = PIDFOM
« CDC/FDC dE/dx, time-of-flight to BCAL/TOF, E/p for FCAL/BCAL, ...

@ Hooks for dE/dx mean and sigma already in code and ccdb
¢« Main task: find resolutions as function of p (perhaps also 6?) for each particle type
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Proton ID: CDC dE/dx 2

dEdx vs p/M, proton cands. 8(dEdx) vs p/M, proton cands. .
[ ProtondEdxAmp x10° _ DProtondEdx
g 25 UV Mean x 0.9595 g ; Mean x 1.103
[&] -
= Mean y 3.304 10_ % L Mean y -0.8405
E Std Dev x 0.7055 | — 800 x 40— Std Dev x 0.717
= Std Devy 2,867 S Std Devy 1.695
5 20 B Integral  8.8786+08 S ] Integral  7.093e+08
© IR —1500 oA )
< 2
158 400
: 300
0
E 300
10 200
-2
200
5 100
100 _a
ol 0 AN T T T T T T AT OO I O 0
0 0.5 1 15 2 25 3 35 4 1.5 2 2.5 3 3.5 4
n/M p/M
proton dEdx CL
6
§|1c||\||\||\ |\||||||||||||||||||||||||||||\|PrOtondEdXCL
400~ Mean 0.2247
350 Std Dev 0.3057
E Integral  9.096e+08
300~ -
250 - —
200~ —
1501 —
100/~ —
50 f- —
:—!_L:-T_H_!_v—r\ | ! e by L Ly | ': -
0 1

M I o
0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

Talk Title Here - Confidence level \ggf,f:erson Lab

(=)
(=]
-y



o—

. 3
Proton ID: FDC dE/dx
dEdx vs p/M, proton cands.
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Proton ID: Timing info 4

at vs p for proton ProtonTOFdt proton TOF dt CL
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dE/dx [MeV/cm]

Proton ID: SC dE/dx g

d(dEdx) vs p/M, proton cands.

dEdx vs p/M, proton cands. 10°
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Proton ID: combined result :
proton PID CL
L e B ProtonPIDCL
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Current status

¢« Updated function parameters for dE/dx mean and sigma for both CDC and FDC in local
ccdb for protons and pions (with guesses for kaons guided by MC)

¢« Found preliminary p-dependent timing resolutions for BCAL and TOF

« Working on sigmas on E/p for electron/positron identification

¢ SC looks like it might be usuable for proton ID
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